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Al 9,009 9,009 0
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pJ 7,323 0 7,323
< 1,465 0 1,465
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OgrEAdd2el JIZMI2 2 A AHI24f
50,0003 142173 4,900 0 4,900
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= 252 150 102
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= 160,439 160,439 0
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Il 22,048 24,525 N2 ATT
& 4,410 7,357 N2,947
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) 2,476 0 2,476
[ 495 0 495
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307 elztol A 56,220 58,600 A2,380
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307 GI12+0l & 5,536 6,506 A970
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307 QI2t0IA 190,245 190,245 0
= 162,197 152,197 0
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01 T =S FH SHI 1,500 1,500 0
O pPC+¥ Z2& 1,500,000 1,500 1,500
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O1 LEt=3H| 5,240 3,380 1,860
> EE=ESHE X 2EFY
AX 5,240,000 5,240 3,380 1,860
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= 3,336 2,250 1,086
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Al 3,309 2,600 709
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Il 18,750 20,000 A 1,250
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Il 2,000 2,000 0
Al 2,000 2,000 0
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Al 825 500 325
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